Midterm I: Some problems for review

You will be provided the following formula on the exam:

’7./ X 7,//‘ (,',,/ X ,',,l/) . ,r/// T/
R = T = N = W’

I % 2 B =T XN,

ar =V', ay =rV% V=]

For Problems 1-17, determine whether the statement is true or false. If it is true, explain why. If
it is false, explain why or give an example that disproves the statement.

b B T T = e b e b o e b b
Answer ¥

2. Foranyvectorsuand vin V3, [u+v| = |u| + |v]|.

3. Foranyvectorsmandvin V3, ju-v| = [u] |v|
Answer ¥

4. For any vectorsuand vin V3, |u x v| = |u| |v].

5. ForanyvectorsuandvinV3,u-v=v-u
Answer ¥

6. ForanyvectorsuandvinV;,uxv=vxu

7. Foranyvectorsuandvin Vs, jlu x v| = |v x ul.

Answer ¥



8. For any vectors u and v in V3 and any scalar k,

kE(w-v)=(ku)-v

9. For any vectors u and v in V3 and any scalar k,
E(uxv)=(ku) xv
| Answer ¥ |
10. For any vectors u, v, and w in V3,

(u+vV)XwW=uxw+vxw

11. For any vectors u, v, and w in V3,

u-(vxw)=(uxv) w

12. For any vectors u, v, and w in V3,

ux (vxw)=(uxv)xw

13. Forany vectorsuand vin V3, (u x v) -u = 0.
| Answer ¥ |

14. For any vectorsuandvin V3, (u+v) x v=u x v.

15. The vector (3, —1, 2) is parallel to the plane

6z —2y+42=1

| Answer ¥ |

16. A linear equation Az + By + Cz + D = (0 represents a line in space.
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. flzyy)=ln(z+y+1)

|:Answer +|

flzy)=v/4-22 -y +v1-2?

3-4 Sketch the graph of the function.

f(ms y) =1- y2

|:Answer +|

flz,y) =2+ (y—2)°

5-6 Sketch several level curves of the function.

f(z,y) = \/42? + 42

| Answer ¥ |

. flz,y)y=e€e*+y



